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Q.1. Solve the following problems as given in the example: 

 

a) Meera has 25 video games and her friend gave her 25 more. How many 

videogames does she has now? 

Sol. Meera  has video games    =  25 

       Her friend gave    = + 25____ 

      Video games now    =   __________ 

  So, Meera has __________ video games now. 

b) Squeaky has 138 nuts and his friend has 154 nuts. How many nuts do they 

have altogether? 

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________ 

c) Rohan had 792 chocolates. He distributed 124 in the class. How many 

chocolates does Rohan has now? 

_______________________________________________________________

_______________________________________________________________

_______________________________________________________________

_______________________________________________________________ 

d) Neha had 49 apples. She ate 18 of them. How many apples are left now? 

_______________________________________________________________

_______________________________________________________________

_______________________________________________________________

_______________________________________________________________ 
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2. Show as repeated addition: 

 4 × 6  =  ____________________________________ 

 

 7 × 5 = ____________________________________ 

 

 5 × 5 = ____________________________________ 

 3. Find the answer: 

H T O 

2 3 5 

×  2 

   

 

 

 

 

  4. Write the answer: 

 2 × 6 = ________ 

 

 9 × 8 = ________ 

 

 7 × 4 = ________ 

 

 5 × 5 = ________ 

 

 10 × 10 = ________ 

 

 20 × 0 = ________ 

 

 1 × 19 = ________ 

 

 4 × 3 = ________  

 

 0 × 0 = ________ 

 

 10 × 8 = ________ 

H T O 

4 0 4 

×  2 

   

H T O 

2 4 0 

×  3 

   

H T O 

2 0 0 

×  4 

   


